Efficiency vs dr

o 0.05———
g F |
©.045F -

= CIRERY
DQ M TT mkFlt DQM_original-127
D M_TT__mkFit-DOM_mod-127

1ii-'IﬁﬁﬁijjﬁﬁﬁijjﬁIf"'ﬁﬁi""'*'"'*'""'ﬁﬁi""

—_ D M_TT__mkFit-DOM_] mod update 127

L

1072 0% 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

5005 ——mM8m—————
& R SURU U SUNUE AU
O e L S A A

L A S RS S I
0] o : : : : :
L S R S SRR SRR SO &
= F . . . N N H
R R R e R
0,025+ e
O R SRS S S
T R S ST
0.01 -5+ Fhy- x5

0.008F- -+ {}

PR
QL2
o [ : ]
| EERPR PP
On: s N ] 3
20 30 40 50 60 70 80



	Contents
	Page 1


